
 

 

ОГЭ 2025.  Тренировочный вариант № 01. Ответы 
 

Задание 1 2 3 4 5 

ответ 275 31,5 7,7 802,8 1,7 

 

Задание 6 7 8 9 10 11 12 13 14 

ответ 21 2 162 –16 0,44 123 0,0098 4 40 

 

Задание 15 16 17 18 19 

ответ 26 145 34 10 12 

 

Задание 20 21 22 23 24 25 

ответ − − { 6; 2;  6}  82,5 − ( 2; 0) {4} 68 – 
  19 13; 38 13;

57 5
 

 

 

 

ОГЭ 2025.  Тренировочный вариант № 02. Ответы 
 

Задание 1 2 3 4 5 

ответ 265 3,5 15,8 677,7 2,7 

 

Задание 6 7 8 9 10 11 12 13 14 

ответ 14 3 147 –15 0,36 213 0,0072 1 40 

 

Задание 15 16 17 18 19 

ответ 25 116 37 12 13 

 

Задание 20 21 22 23 24 25 

ответ − − { 5; 3;  5}  87,5 − { 4} (0; 3)  68 – 
  17 13; 34 13;

51 5
 

 

 

 

 

 

 

 

 

 


